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Internet

R1#show ip route
Gateway of last resort is not set

R2#sh run | b router ospf

router ospf 1 1 :
router-id 2.2.2.2 10.0.0.0/8 is variably subnetted, 4 subnets, 3 masks

C 10.10.10.0/30 is directly connected, FastEthernet0/1

O 10.10.13.0/25 [110/6576] via 10.10.10.1, 01:37:03

C 10.10.10.16/30 is directly connected, FastEthernet0/24
8} 10.10.13.144/28 [110/110] viz 10.10.10.1, 01:37:03

log-adjacency-changes

auto-cost reference-bandwidth 10000
network 10,10.10.1 0.0.0.0 area 0
network 10.10.13.1 0.0.0.0 area 0

Rli#sh run | b router ospf
router ospf 1

router-id 1.1.1.1
log-adjacency-changes

R2#show ip route

Gateway of last resort is not set

10.0.0.0/8 i< variably subnetted, 3 cubnets, 3 masks
C 10.10.10.0/30 is directly connected :
C 10.10.13.0/25 is directly connected, Vlan20 aurto-costrefarence:banawidth 10000

€ 10.10.13.144/28 is directly connected, Viand0 network 10.10:10.2 0.0.0.0 avea 0
default-information originate

Add the default-information originate command onR2

Configure the ip route 0.0.0.0 0.0.0.0 10.10.10.18 command on R1
Configure the ip route 0.0.0.0 0.0.0.0 10.10.10.2 command on R2

Add the always keyword to the default-information originate command on R1

oow>

Correct Answer: B

QUESTION 359
What is the function of a server?

A. It transmits packets between hosts in the same broadcast domain.
B. It provides shared applications to end users.

C. ltroutes traffic between Layer 3 devices.

D. It creates security zones between trusted and untrusted networks

Correct Answer: B

QUESTION 360

DRAG DROP

Drag and drop the Cisco Wireless LAN Controller security settings from the left onto the correct
security mechanism categories on the right.
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[ayer 2 Sacurity Mechanisms
web policy
Passthrough
WERMIAT [ayer 3 Security Mechanisms (for WLAN)
BOZ.1X
Correct Answer:
Layer 2 Security Mechanisms
‘web policy
802.1X
EReeOU WPA+WPA2
WRANEAR [ayer 3 Sacurity Mechanisms (for WLAN)
web policy
BOZ.1X%
Passthrough

QUESTION 361
What is a characteristic of spine-and-leaf architecture?

A. Each device is separated by the same number of hops

B. It provides variable latency

C. It provides greater predictability on STP blocked ports.

D. Each link between leaf switches allows for higher bandwidth.

Correct Answer: A

QUESTION 362
What is a function of TFTP in network operations?

A. transfers a backup configuration file from a server to a switch using a username and password
B. transfers files between file systems on a router

C. transfers a configuration files from a server to a router on a congested link

D. transfers I0OS images from a server to a router for firmware upgrades

Correct Answer: D

Explanation:

TFTP is mostly used (Firmware upgrade) whereby the admin have the |OS image on one device
and uses TFTP to load the image to all other devices quickly.
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QUESTION 363
What makes Cisco DNA Center different from traditional network management applications and
their management of networks?

A. It omits supports auto-discovery of network elements in a greenfield deployment.

B. It modular design allows someone to implement different versions to meet the specific needs of an
organization

C. It abstracts policy from the actual device configuration

D. It does not support high availability of management functions when operating in cluster mode

Correct Answer: C

QUESTION 364
Why does a switch flood a frame to all ports?

A. The frame has zero destination MAC addresses.

B. The source MAC address of the frame is unknown

C. The source and destination MAC addresses of the frame are the same
D. The destination MAC address of the frame is unknown.

Correct Answer: B

QUESTION 365

Refer to the exhibit. An engineer booted a new switch and applied this configuration via the
console port. Which additional configuration must be applied to allow administrators to
authenticate directly to enable privilege mode via Telnet using a local username and password?

Switch (config) #hostname R1

Rl (config)#interface FastEthernet0O/1

Rl (config-if) #no switchport

Rl (config-if) #ip address 10.100.20.42 255.255.255.0
Rl (config-if)#line vty 0 4

Rl (config-line)#login

R1{config)#username admin privilege 15 secret p@ss1234
R1{config-if #line vty 0 4
R1{config-line #login local

R1{config)#username admin secret p@ss1234
R1{config-if #line vty 0 4

R1{config-line #login local

R1{config)#enable secret p@ss1234

R1{configi#username admin
R1{config-if#line vty 0 4
R1{config-line j#password p@ss1234
R1{config-line)#transport input telnet

R1{configi#username admin
R1{config-if#line vty 0 4
R1{config-line)¥password p@ss1234

A. Option A
B. Option B
C. OptionC
D. Option D

Correct Answer: A
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QUESTION 366
What is a function of a Layer 3 switch?

A. move frames between endpoints limited to IP addresses

B. transmit broadcast traffic when operating in Layer 3 mode exclusively
C. forward Ethernet frames between VLANSs using only MAC addresses
D. flood broadcast traffic within a VLAN

Correct Answer: A

QUESTION 367
With REST API, which standard HTTP header tells a server which media type is expected by the
client?

A. Accept-Encoding: gzip. deflate

B. Accept-Patch: text/example; charset=utf-8

C. Content-Type: application/json; charset=utf-8
D. Accept: application/json

Correct Answer: D

Explanation:

Accept header is a way for a client to specify the media type of the response content it is
expecting and Content-type is a way to specify the media type of request being sent from the
client to the server.

http://www.java-allandsundry.com/2012/08/accept-header-vs-content-type-
header.html#:~:text=Accept%20and%20Content%2Dtype%20are,the%20client%20t0%20the %20
server

QUESTION 368
Refer to the exhibit. Which two commands were used to create port channel 10?7 (Choose two)

Switch#show etherchannel summary
[output omitted]

Group Port-channel Protocol Ports

10 Po10 (SU) LACP Gi0/0(P) Gi0/1 (P)
20 Po20 (SU) LACP Gi0/2 (P) Gi0/3(P)
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~int range g0/0-1
channel-group 10 mode active

~int range g0/0-1
channel-group 10 mode desirable

 int range g0/0-1
channel-group 10 mode passive

~ int range g0/0-1
channel-group 10 mode auto

~_ int range g0/0-1
channel-group 10 mode on

Option A
Option B
Option C
Option D
Option E

moowp

Correct Answer: AC

QUESTION 369
DRAG DROP
Drag and drop the AAA terms from the left onto the description on the right.

Correct Answer:
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